# On Certain Second Order Neutral Difference Inequality 

Pon Sundar ${ }^{1}$, K. Revathi ${ }^{2}$<br>${ }^{1}$ Om Muruga College of Arts and Science, Mattur (TK), Salem - 636 303, Tamil Nadu, India.<br>${ }^{2}$ Department of Mathematics, Sri Sarada Niketan College of Arts and Science, Salem - 636 354, Tamil Nadu, India.

## Abstract: In this paper, some sufficient conditions that ensure second order delay difference inequality have no eventually positive solution are obtained.

Keywords: Positive solution, Inequality, Second order and Difference inequality.

## I. Introduction

Very little work has been done on the topic the problem of difference inequalities with deviating arguments. For first order second order and $n^{\text {th }}$ order difference inequalities. We can refer to [1-9] and their references. In this paper, we consider the following second order neutral difference inequality with deviating arguments

$$
\begin{equation*}
\Delta^{2}\left[x(n)+\sum_{i=1}^{m} c_{i}(n) x\left(\tau_{i}(n)\right)\right]+\sum_{n=a}^{b} p(n, \xi) f(x[g(n, \xi)]) \leq 0 . \tag{1}
\end{equation*}
$$

The aim of this paper is to obtain some sufficient conditions under which (1) have no eventually positive solution. We first assume the following condition throughout this paper that
( $\left.\mathrm{A}_{1}\right)\left\{c_{i}(n)\right\}_{i=1 \text { to } n}$ is a positive real sequence
$\left(\mathrm{A}_{2}\right)\left\{\tau_{i}(n)\right\}_{i=1 \text { to } n}$ is a sequence of positive integers such that $\left\{\tau_{i}(n)\right\} \leq n$ and $\lim _{n \rightarrow \infty} \tau_{i}(n)=\infty$.
$\left(\mathrm{A}_{3}\right)$ The functions $g(n, \xi), \xi \in[a, b]$ is a non-decreasing with respect to n and $\xi$ respectively such that $g(n, \xi) \leq n$ and $\lim _{n \rightarrow \infty} g(n, \xi)=\infty$.
$\left(\mathrm{A}_{4}\right) p(n, \xi)$ is a non-decreasing sequence with respect to n and $\xi$.

## II. Main Results

For convenience, we first give the following lemmas.
Lemma 2.1. Suppose that the following conditions holds

$$
\begin{gather*}
\sum_{i=1}^{m} c_{i}(n) \leq 1  \tag{2}\\
\frac{f(x)}{x} \geq \lambda>0 \quad(x>0, \lambda \text { is a constant }) . \tag{3}
\end{gather*}
$$

If $x(n)$ is an eventually positive solution of inequality (1), and let

$$
\begin{equation*}
y(n)=x(n)+\sum_{i=1}^{m} c_{i} x\left(\tau_{i}(n)\right) \tag{4}
\end{equation*}
$$

then there exists a $n_{1} \geq 0$ such that

$$
\begin{equation*}
y(n)>0, \quad \Delta^{2} y(n)>0 \quad \text { and } \quad \Delta y(n)>0 . \tag{5}
\end{equation*}
$$

Proof. Since $x(n)$ is an eventually positive solution of (1), and from $\left(A_{3}\right)$, there exists a $n_{1} \geq 0$ such that

$$
x(n)>0, \quad x\left(\tau_{i}(n)\right)>0 \quad \text { and } \quad x[g(n, \xi)]>0, \quad n \geq n_{1}, \quad \xi \in[a, b] .
$$

Noting (2) we have $y(n)>0, n \geq n_{1}$ and from (2), we have

$$
\begin{equation*}
\Delta^{2} y(n) \leq-\sum_{a}^{b} p(n, \xi) f(x[g(n, \xi)]) \leq 0 \tag{6}
\end{equation*}
$$

then $\Delta y(n)$ is a monotonic decreasing and we can further prove $\Delta y(n)>0, \quad n \geq n_{1}$.
In fact, if there is a $n_{2} \geq n_{1}$ with $\Delta y\left(n_{2}\right)=0$. Then from (6), we have $\Delta y(n) \leq \Delta y\left(n_{3}\right)<\Delta y\left(n_{2}\right)=0, \quad n>n_{3}$, then

$$
y(n)-y\left(n_{3}\right) \leq \sum_{n_{3}}^{n-1} \Delta y(s) \leq \sum_{n_{3}}^{n-1} \Delta y\left(n_{3}\right)<0, \quad n \geq n_{3},
$$

therefore $\lim _{n \rightarrow \infty} y(n)=-\infty$. This contradicts the assumption that $y(n)>0, n \geq n_{1}$.
This complete the proof of Lemma 2.1.
Lemma 2.2. Suppose that $\mathrm{x}(\mathrm{n})$ is an eventually positive solution of inequality (1), then there exists a $n_{2}$ for any $\gamma \in(0,1)$ such that

$$
\begin{equation*}
y(n) \geq \gamma n \Delta y(n) . \tag{7}
\end{equation*}
$$

Proof. Since $\mathrm{x}(\mathrm{n})$ is an eventually positive solution of (1) by Lemma 2.1, there exists a $n_{1} \geq 0$ such that (5) holds, and it is easily seen that there exists a $\eta$ such that

$$
\begin{equation*}
y(n)-y\left(n_{1}\right)=\Delta y(\eta)\left(n-n_{1}\right) . \tag{8}
\end{equation*}
$$

From (5), for any $\gamma \in(0,1)$, we have

$$
y(n) \geq \Delta y(\eta)\left(n-n_{1}\right) .
$$

Let $w=\frac{1}{1-\gamma}$, then $\gamma=1-\frac{1}{w}$, and

$$
\begin{equation*}
n-n_{1} \geq n-\frac{n}{w}=n\left(1-\frac{1}{w}\right)=\gamma n, \quad n \geq w n_{1} \leq n_{2} . \tag{9}
\end{equation*}
$$

Form (8) and (9), we can get (7).
This completes the proof of Lemma 2.2.
Lemma 2.3. Suppose $Q(n, \xi)$ is real positive sequence $\xi \in[a, b]$ and
$\left(\mathrm{H}_{1}\right) \quad$ there exists a function $h(n, \xi)$ such that $h(h(n, \xi))=g(n \xi): h(n, \xi)$ is non-decreasing function with respect to n and $\xi$ and $n \geq h(n, \xi) \geq g(n, \xi)$,
$\left(\mathrm{H}_{2}\right) \quad \liminf _{n \rightarrow \infty} \sum_{g(n, b)}^{n-1} \sum_{a}^{b} Q(s, \xi)>\frac{1}{e}$,
$\left(\mathrm{H}_{3}\right) \quad \liminf _{n \rightarrow \infty} \sum_{h(n, b)}^{n-1} \sum_{a}^{b} Q(s, \xi)>0$, then the first order retarded difference inequality

$$
\begin{equation*}
\Delta x(n)+\sum_{a}^{b} Q(s, \xi) x[g(n, \xi)] \leq 0 \tag{10}
\end{equation*}
$$

have no eventually positive solution.
Proof. Refer Conjecture A in [10].
Now we give the main results of this paper.
Theorem 2.1. Suppose that (2) and (3) hold. Assume further that $\varphi(n)$ is a decreasing positive real sequence such that

$$
\begin{equation*}
\sum_{n_{0}}^{\infty}\left[\lambda \varphi(s) \sum_{a}^{b} p(s, \xi)\left\{1-\sum_{i=1}^{m} c_{i}[g(s, \xi)]\right\}-\frac{(\Delta \varphi(s))^{2}}{4 \varphi(s)}\right]=\infty, \tag{11}
\end{equation*}
$$

then inequality (1) has no eventually positive solution.
Proof. Suppose that $\mathrm{x}(\mathrm{n})$ is an eventually positive solution of (1). Then there exists a $n_{1} \geq 0$ such that $x(n)>0, x\left(\xi_{i}(n)\right)>0$ and $x[g(n, \xi)]>0, n \geq n_{1}, \xi \in[a, b]$. From (4) we have

$$
x[g(n, \xi)]=y[g(n, \xi)]-\sum_{i=1}^{m} c_{i}[g(n, \xi)] x\left(\tau_{i}[g(n, \xi)]\right),
$$

and from (3), we have $f(x[g(n, \xi)]) \geq \lambda x[g(n, \xi)]>0$. Thus

$$
\begin{align*}
0 & \geq \Delta^{2} y(n)-\sum_{a}^{b} p(n, \xi) f(x[g(n, \xi)]) \\
& \geq \Delta^{2} y(n)+\lambda \sum_{a}^{b} p(n, \xi)\left\{y[g(n, \xi)]-\sum_{i=1}^{m} c_{i}[g(n, \xi)]\right\} x\left[\tau_{i}(n)\right] \tag{12}
\end{align*}
$$

From Lemma 2.1, $\Delta y(n) \geq 0$, and noting $y(n) \geq x(n), n \geq n_{1}$, we have

$$
\begin{equation*}
\Delta^{2} y(n)+\lambda \sum_{a}^{b} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i}[g(n, \xi)]\right\} y[g(n, \xi)] \leq 0 . \tag{13}
\end{equation*}
$$

Using $\left(\mathrm{A}_{3}\right), g(n, \xi)$ is non-decreasing in $\xi$, we have $g(n, a) \leq g(n, \xi), \quad \xi \in[a, b]$. Therefore, we have

$$
\begin{equation*}
\Delta^{2} y(n)+\lambda y[g(n, a)] \sum_{a}^{b} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i}[g(n, \xi)]\right\} \leq 0 . \tag{14}
\end{equation*}
$$

Set

$$
\begin{equation*}
W(n)=\varphi \frac{\Delta y(n)}{y[g(n, a)]}, \tag{15}
\end{equation*}
$$

then $W(n) \geq 0$. Using the conditions $g(n, \xi) \leq n, \quad \xi \in[a, b], \Delta y(n) \leq \Delta y[g(n, x)]$, then

$$
\begin{aligned}
\Delta W(n) & =\frac{\Delta \varphi \Delta y(n)}{y[g(n, a)]}+\varphi(n+1)\left[\frac{\Delta^{2} y(n) y[g(n, a)]-\Delta y(n) \Delta y[g(n, a)]}{y^{2}[g(n, a)]}\right] \\
& \leq \frac{\Delta \varphi \Delta y(n)}{y[g(n, a)]}+\varphi \frac{\Delta^{2} y(n)}{y[g(n, a)]}-\frac{\varphi(n) \Delta^{2} y(n)}{y^{2}[g(n, a)]} \\
& =\frac{\varphi(n) \Delta^{2} y(n)}{y[g(n, a)]}+\frac{(\Delta \varphi(n))^{2}}{4 \varphi(n)}-\left[\sqrt{\varphi(n)} \frac{\Delta y(n)}{y[g(n, a)]}-\frac{\Delta \varphi(n)}{2 \sqrt{\varphi(n)}}\right]^{2} .
\end{aligned}
$$

From (14), we have

$$
\Delta W(n) \leq-\left[\lambda \varphi(n) \sum_{a}^{b} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i}[g(n, \xi)]\right\}-\frac{(\Delta \varphi(n))^{2}}{4 \varphi(n)}\right] .
$$

Summing both sides of the last inequality above from $n_{1}$ to $n-1\left(n>n_{1}\right)$, we have

$$
\begin{equation*}
W(n) \leq-W\left(n_{1}\right)-\sum_{n_{1}}^{n-1}\left[\lambda \varphi(n) \sum_{a}^{b} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i}[g(n, \xi)]\right\}-\frac{(\Delta \varphi(n))^{2}}{4 \varphi(n)}\right] . \tag{16}
\end{equation*}
$$

By taking $n \rightarrow \infty$ and noticing (14), we have $W(n) \rightarrow-\infty$, which contradicts $W(n)>0$.
This completes the proof of Theorem 2.1.
Theorem 2.2. Suppose that (2)-(3) and $\left(\mathrm{H}_{1}\right)$ hold, and that
$\left(\mathrm{H}_{4}\right) \liminf _{n \rightarrow \infty} \sum_{g(n, b)}^{n-1} \sum_{a}^{b}\left(\frac{1}{2}\right) g(n, \xi) Q(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i} g[g(s, \xi)]\right\}>\frac{1}{e}$,
$\left(\mathrm{H}_{5}\right) \liminf _{n \rightarrow \infty} \sum_{h(n, b)}^{n-1} \sum_{a}^{b}\left(\frac{1}{2}\right) g(n, \xi) Q(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i} g[g(s, \xi)]\right\}>0$.
Then the inequality (1) has no eventually positive solutions.
Proof. Suppose that $\mathrm{x}(\mathrm{n})$ is an eventually positive solution, by Lemma 2.1, we know that there exists a $n_{3} \geq n_{1}$ such that $x\left(\tau_{i}(n)\right)>0, x[g(n, \xi)]>0$, and $\Delta x[g(n, \xi)]>0, n \geq n_{3}, \quad \xi \in[a, b]$.
Noticing $y(n) \geq x(n)$, we have

$$
y(n) \leq x(n)+\sum_{i=1}^{m} c_{i}(n) y\left(\tau_{i}(n)\right) \leq x(n)+\sum_{i=1}^{m} c_{i}(n) y(n), \quad n \geq n_{3},
$$

then

$$
\begin{equation*}
\left[1-\sum_{i=1}^{m} c_{i}(n)\right] y(n) \leq x(n) \tag{17}
\end{equation*}
$$

Using Lemma 2.2, (13) and (17), we have

$$
\begin{aligned}
0 & \geq \Delta^{2} y(n)+\lambda \sum_{a}^{b} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i} g[g(n, \xi)]\right\} y[g(n, \xi)] \\
& \geq \Delta^{2} y(n)+\lambda \sum_{a}^{b} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i} g[g(s, \xi)]\right\} \gamma g(n, \xi) y[g(n, \xi)] .
\end{aligned}
$$

Choosing $\gamma=\frac{1}{2} \in(0,1)$, we have

$$
\Delta^{2} y(n)+\frac{\lambda}{2} \sum_{a}^{b} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i} g[g(s, \xi)]\right\} g(n, \xi) \Delta y[g(n, \xi)] \leq 0, n \geq n_{3},
$$

let $z(n)=\Delta y(n)$

$$
\begin{equation*}
\Delta^{2} y(n)+\lambda \sum_{a}^{b} \frac{1}{2} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i} g[g(s, \xi)]\right\} g(n, \xi) z[g(n, \xi)] \leq 0, n \geq n_{4} . \tag{18}
\end{equation*}
$$

Choosing

$$
Q(n, \xi)=\frac{1}{2} p(n, \xi)\left\{1-\sum_{i=1}^{m} c_{i} g[g(s, \xi)]\right\} g(n, \xi), \quad n \geq n_{3},
$$

then we have

$$
\begin{align*}
& \liminf _{n \rightarrow \infty} \sum_{g(n, b)}^{n-1} \sum_{a}^{b} Q(s, \xi)>\frac{1}{e} \\
& \liminf _{n \rightarrow \infty} \sum_{h(n, b)}^{n-1} \sum_{a}^{b} Q(s, \xi)>0 \\
& \Delta z(n)+\sum_{a}^{b} Q(s, \xi) z[g(n, \xi)] \leq 0 . \tag{19}
\end{align*}
$$

Then if follows from Lemma 2.3 that inequality (19) has no eventually positive solutions, which contradicts the fact that $z(n)=\Delta y(n)>0$ is a solution of (18).
This completes the proof of Theorem 2.2.
Remark 2.1. Similar to the above results on equation (1), we can consider the following second order delay difference inequality

$$
\Delta^{2}\left[x(n)+\sum_{i=1}^{m} c_{i}(n) x\left(\tau_{i}(n)\right)\right]+\sum_{a}^{b} p(s, \xi) f(x[g(n, \xi)]) \geq 0
$$

and obtain sufficient conditions that ensure two inequality has no eventually negative solutions.
For the second order delay difference equation

$$
\begin{equation*}
\left[x(n)+\sum_{i=1}^{m} c_{i}(n) x\left(\tau_{i}(n)\right)\right]+\sum_{a}^{b} p(s, \xi) f(x[g(n, \xi)])=0 \tag{20}
\end{equation*}
$$

We have the following results.
Theorem 2.3. Suppose that the conditions of Theorem 2.1 hold. Then every solution of equation (20) is oscillatory.
Theorem 2.4. Suppose that the conditions of Theorem 2.2 hold. Then every solution of equation (20) is oscillatory.

## Acknowledgements

The authors wish to express their sincere thanks to the referee for valuable comments and suggestions.

## References

[1] Agarwal. R.P., Difference Equations and Inequalities, Marcel Decker, New York, 1999.
[2] Erbe. L.H and Zhang. B.G., Oscillation of discrete analogues of delay equations, Diff and Integ. Equations, 2(1989), 300-309.
[3] Hardy G.H., Littlewood J.E and Polya G., Inequalities, Cambridge University Press, 1952.
[4] Ladas G., Explicit conditions for the oscillation of difference equations, J. Math. Anal. Appl., 153(1990), 276-287.
[5] Ladas. G and Stavroulakis. I.P., Oscillation caused by several retarded and advanced arguments, J. Diff. Eqns., 44(1982), 134-152.
[6] Ladas G and Stavroulakis. I.P., Oscillation of differential equations of mixed type , J. Math. Phy. Sci., 18(3)(1984), 245-262.
[7] Li. B., Discrete Oscillations, J. Diff. Equations Appl., 2(1996), 385-399.
[8] Stavroulatis. I.P., Oscillations of delay difference equations, Comput. Math. Appl., 29(7)(1995), 83-88.
[9] Stavroulatis. I.P., Oscillation criteria of first order delay difference equations, Mediter. J. Math., 1(2004), 231-240.
[10] Wang. Z.C and Zhang. R.Y., Nonexistence of eventually positive solutions of a difference inequality with multiple and variable delays and coefficients, Comput. Math. Appl.,40(2000), 705-712.

